








































Fourier Series

Derivation of Fourier coefficients

D 3 assumes that the period fix
is 2L

f has a period 2A
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4 cos Lux dx IT 8 of sinnxcomedy 0 we
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Ceo Integrate both sides eq C from 0 to 2T
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2 an i Multiply each of eq4 byConca and integrate from
0 to 2T

fix concaydx age Lux ta cascade t n
O O O

an coins da
IT

b sink conk dat bn sinnx canada

o O

fix cosine dx an IT

an iffflxscosn.edu



fly az t an cosinx tbn sinCnn eqi

3 bn Multiply each of egg by sinCmc and integrate from
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